BHusqvarna | s =13

n
{CE™| = |19800089

IPL, 132R, 1998-10, 106 25 46-61

132R

Spare parts
Ersatzteile

Pieces détachées
Reserve onderdelen
Repuestos
Reservdelar



A *compl 502 18 06-01

731 23 14-05*

735 11 35-50*
531 00 47-30

**compl 502 18 12-01

(M6x25) 725 23 72-71
502 14 79-0t E
(]
502 12 44-01 **502 16 45-01

503 21 83-16
501 78 33-01

502 14 81-01

(M6x30) 725 23 74-51 —%é

H *compl 531 00 47-34
*compl 502 19 11-01

531 00 23-90

*531 00 47-35
*531 00 40-70

**735 31 27-10

@\531 00 23-91
531 00 47-33 K
B 531 00 47-36
**502 19 15-01 502 19 12-02

NN —738 21 00-02**
**502 19 17-01— )

725 53 33-01 502 19 14-01**

2

f |
**725 23 33-71

502 19 16-01**




(M5x20) 725 53 31-01

531 00 23-56

531 00 23-55

(M5x25) 725 53 33-01

531 00 24-18

(M5x16)725 53 29-01%

E

531 00 23-99*

NGK BPR6Y
§/ 531 00 24-05
531 00 24-01*

*531 00 23-97 ! 53100 47-31* 531 00 23-94

725 52 97-01 (M4x25) 531 00 24-03

531 00 24-15 * -
£31 00 24-12 compl 531 00 24-09

531 00 24-11

531 00 47-38
531 00 40-07*

531 00 47-37

531 00 24-10

@\ 531 00 40-06*
531 00 40-05*

531 00 40-04*

531 00 24-08
531 00 24-16




725 53 31-01 (M5x20) 531 00 23-63

531 00 23-62

531 00 23-47

- k
O 531 00 23-53

531 00 23-49

531 00 23-84 @\531 00 25.64
53100 23-78 } ' 531 00 23-65
531 00 23-76

C‘/&531 00 23-80

F 531 00 23-82 \/@
531 00 23-69
531 00 24-02 M

@\ 531 00 23-86
531 00 23-69

K *compl 531 00 23-67

531 00 23-72

53100 23-71

725 53 35-01 (M5x30)

531 00 24-06

725 53 31-01 (M5x20)




531 00 24-57
(M5x55) 725 53 42-01

531 00 23-52

531 00 23-53

/ 531 00 47-32

531 00 24-53
531 00 24-54

531 00 23-63

(M4x16)725 52 93-01—\‘ 531 00 24-58

531 00 24-62

531 00 24-63— 531 00 24-59
531 00 41-53
531 00 41-54
531 00 24-61

531 00 24-93
724 13 27-01 (M5x12)

531 00 41-52



Husqvarna AB
Correct number 725 53 41-01


502 19 10-02\

531 00 24-67

*compl 531 00 40-26
*502 16 21-01

*725 23 33-51
*735 11 35-50

*738 21 02-04
*735 31 25-10

502 19 19-01
502 18 09-01
502 18 10-01
502 04 55-01

735 31 31-10*
735 31 11-41*
738 21 99-00*

738 21 99-01*
502 14 74-01*

531 00 23-44

%
501 31 40-01

—503 74 53-01

502 19 30-01

Asoz 02 61-01

501 95 49-01




*compl 531 00 24-20

531 00 24-43*

_AA*
w1 00 200 [
*531 00 41-43—\ /

531 00 24-41*
/531 00 24-40*
<5 531 00 24-39*

F\
9 /6\531 00 24-49*
531 00 24-47*
& /o
(2 g\

' 531 00 24-50*
*531 00 24-21—/

*531 00 24-22 531 00 24-51*

531 00 24-52

6,

*531 00 24-23
*531 00 24-24

*531 00 41-55

*531 00 24-28
*531 00 24-29
*531 00 24-30

*531 00 24-31— go\
S 531 00 24-32*
g

531 00 24-33*

531 00 47-40*

@\531 00 47-39*

E(‘<\>\531 00 47-41*
531 00 41-56






